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1. Social Work primarily aims at: 

A) Physical well being  B) Economic betterment 
C) Better Social Functioning D) People upliftment 

 
2. Diverting emotional feelings from their original sources to a substitute target is called 

A) Repression   B) Denial 
C) Reaction Formation  D) Displacement 

 
3. The basis of social relationship is 

A) Physical proximity  B) Reciprocity 
C) Cordiality   D) Reliability 

 
4. Who defined ‘Community is a social group with some degree of ‘we’ feeling  and living in 

given area’ 
A) Ogburn   B) Bogardus 
C) Tonnies   D) Morris Ginsberg  

 
5. Where is the headquarters of FAO ? 

A) New York   B) Geneva 
C) Rome    D) Great Britain 

 
6. Who was the first Chairperson of the CSBW? 

A) B.R Ambedkar  B) D.B.Deshmukh 
C) Jawaharlal Nehru  D) Morarji Desai 

 
7. The method that brings about desirable changes in the defective system for ensuring social 

progress 
A) Community Organisation B) Social work Administration 
C) Social Action   D) Social work Research 

 
8. Which of the following is an organisation established to assist the orphanages? 

A) Arya Mahila Samaj  B) Arya Samaj 
C) Brahmo Samaj   D) Atmiya Sabha 

 
9. Culture is not  

A) Learned   B) Shared 
C) Innate    D) Acquired 

 
10. Which type of recording in field work denotes the mood and response of the client?  

A) Process recording  B) Narrative recording 
C) Verbal recording  D) Summary recording 
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11. Reproductive and Child Health Programme (RCH) in India was launched in – 
A) 1975  B) 1997  C) 2005  D) 2011 

 
12. To evaluate another culture according to one’s own cultural standard is called 

A) Ethnocentrism   B) Xenocentrism 
C) Cultural Lag   D) Material culture 

 
13. Choose your answer according to the codes given below 

Assertion (A): Eclectic approach is characterised by a solid knowledge of many  
systems of theories and skills for selecting useful concepts and techniques 
with reference to clients. 

Reason (R):  This approach believes in social worker choosing casually a  
  methodology for client. 
 
A) Both (A) and (R) are true and (R) is based on the belief of (A) 
B) (A) is true and (R) is false  
C) Both (A) and (R) are true 
D) (A) is false but (R) is true 

 
14. Grameen Bank is associated with whom of the following 

A) Amartya  Sen   B) M. S. Swaminathan 
C) Manmohan Singh  D) Mohammed Yunus 

 
15. Which is the variable factor influenced by another factor 

A) Confounding variable  B) Intervening variable 
C) Dependent variable  D) Independent variable 

 
16. Match the theories with its proponent and answer from the code given below: 

Theories    Proponents 
a) Evolution Theory  i)  Sorokin 
b) Cyclical Theory  ii)  T. Parsons 
c) Deterministic Theory  iii)  A. Comte 
d) Functionalist Theory  iv)  Sumner and Keller 
 
Code:  (a) (b) (c) (d) 
A) (iii) (i) (iv) (ii) 
B) (iv) (ii) (iii) (i) 
C) (i) (ii) (iii) (iv) 
D) (iv) (iii) (ii) (i) 

 
17. Among the following which is not a motivational theory? 

A) Instinct Theory  B) Drive Theory 
C) Nurture Theory  D) Arousal Theory 
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18. Match the items of the list 1 with list 2 and answer from the code given: 
List 1      List 2. 

a) Concepts of Primary and Secondary Groups i)  Sutherland 
b) Theory of Cultural Lag    ii)  Hayman 
c) Concept of Reference Group   iii)  C H Cooley 
d) Theory of Differential Association  iv)  Ogburn  
 
Code:   (a) (b) (c) (d) 
A)  (ii) (i) (iv) (iii) 
B)  (ii) (iii) (i ) (iv) 
C)  (iii) (iv) (ii)  (i) 
D)  (iii) (ii) (iv)  (i) 

 
19. The pioneer of the concept of ‘Culture of Poverty’ 

A) Oscar Lewis   B) George Simmel 
C) Auguste Comte  D) MacIver 

 
20. Who is the author of the book From Charity to Social Work? 

A) Grace Mathew   B) Mary Richmond 
C) Konopka   D) Friedlander 

 
21. Match the items of the list A with list B and answer from the code given: 

List A     List B 
a) Servants of India Society i)  Mahatma Gandhi 
b) Sarva Dharma Sambhav ii)  Save Trees 
c) Bhoodan Movement  iii)  Gopal Krishna Gokhale 
d) Chipko Movement  iv)  Vinoba Bhave 
 
Code:  (a) (b) (c) (d) 
A) (iii) (i) (iv) (ii) 
B) (iii) (iv) (ii)  (i) 
C) (iv) (iii) (i) (ii) 
D) (iv) (ii) (i) (iii) 

 
22. Widow re marriage was advocated by: 

A) Raja Ram Mohan Roy  B) Ishwar Chandra Vidyasagar 
C) Rabindranath Tagore  D) Gopal Krishna Gokhale 

 
23. Marriage of a woman to two or more men is known as: 

A) Polygyny   B) Polygamy 
C) Polyandry   D) Group marriage 

 
24. Theory of Malthus is related to  

A) Technological factors of change 
B) Cultural factors of change 
C) Economic factors of change 
D) Demographic factors of change 
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25. Husband, wife and their unmarried children form 
A) Nuclear family  B) Joint family 
C) Extended family  D) Model family  

 
26. The formula used to measure IQ is: 

A) I.Q.= PA/CAx100  B) I.Q.= CA/ MAx100 
C) I.Q.= CA/MA x 200  D) I.Q.= MA /CA x 100 

 
27. Choose your answer according to the codes given below:  

Assertion(A): Indian Constitution authorises the States to make special provisions for 
 the weaker sections of the society 

Reason (R):  People belonging to weaker sections require special attention of the State. 
 
A) (A) is correct but (R) is wrong 
B) (A) is wrong but (R) is correct 
C) Both (A) and (R) are correct but (R) is not the correct explanation of (A) 
D) Both are correct and (R) is the correct reason of (A) 

 
28. Choose your answer according to the codes given below 

Assertion (A): Joint family system is disintegrating very fast in Kerala. 
Reason (R):  This is due to transition taking place from primary to secondary and  
  tertiary sectors of economy 
 
A) Both (A) and (R) are true and (R) is the correct explanation of (A) 
B) Both (A) and (R) are true but (R) is not the correct explanation of (A) 
C) (A) is true but (R) is false 
D) (A) is false but (R) is true 

 
29. Who gave the three dimensional model of personality – Child, Adult, Parent. 

A) Sigmund Freud  B) Elizabeth Hurlock 
C) Otto Rank   D) Eric Berne 

 
30. Arrange in order of the major steps in social work research 

A)  Problem Formulation, Review of literature, Research design, Pilot study,   
 Data collection and analysis  
B)  Review of literature, Problem Formulation, Research design, Pilot study, Data 

collection and analysis  
C)  Review of literature, Research design, Problem Formulation, Pilot study, Data 

collection and analysis  
D)  Problem Formulation, Review of literature, Pilot study, Research design, Data 

collection and analysis  
 
31. Which Article of Indian Constitution lays down the provision of free and compulsory 

education for children? 
A)  45  B)  46  C)  47  D)  48 
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32. Social heterogeneity is said to be one of the important features of which community from 
the following 
A) Rural community   B) Urban community 
C) Maritime community  D) Adivasi community 

 
33. When did India adopt New Economic Policy in the country? 

A) 1989  B) 1991  C) 1994  D) 1999 
 
34. What type of role the social worker plays when he or she works for the improvement of 

the policies and laws in order to make system more effective: 
A) Mobiliser   B) Consultant 
C) Advocate   D) Enabler 

 
35. Which of the following is not the common domain of both Social Work and Human Rights? 

A) Equality   B) Development 
C) Justice    D) Freedom 

 
36. Choose your answer according to the codes given below 

Assertion (A): There are not much important differences between individuals that  
  must be always respected accordingly. 
Reason (R): Social Work places paramount importance to individualisation. 
 
A) Both (A) and (R) are true and (R) is not the correct explanation of (A) 
B) Both (A) and (R) are true but (R) is the correct explanation of (A) 
C) (A) is true but (R) is false 
D) (A) is false but (R) is true 

 
37. Who is the father of Behavioural Science? 

A) B. F. Skinner   B) John Watson 
C) Sigmund Freud  D) Erikson 

 
38. Choose your answer according to the codes given below 

Assertion (A): Neurons is the basic unit of our nervous system. 
Reason (R): Neurons receive information from sense organs, carry them to CNS 

 and bring motor information from CNS to muscles and glands. 
 
A) (A) is false but (R) is true 
B)    (A) is true but (R) is false 
C) Both (A) and (R) are true and (R) is the correct explanation  
D) Both (A) and (R) are true but (R) is not the correct explanation  

 
39. In group dynamics, Group bond is a powerful aspect which refers to  

A) Group Cohesiveness  B) Group support 
C) Group Contagion  D) Group therapy 
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40. Who coined the word conscientisation? 
A) Khalil Gibran   B) Paulo Frèire 
C) Leonardo Buff   D) Perlman 

 
41. Who used the word ‘persona’ related to the theory of personality? 

A) Carl Jung B) Sigmund Freud C) Adler  D) Ericson 
 
42. Which theory holds that the childhood experiences influence the adult behaviour? 

A)  Psychoanalytic Theory B)  Person Centred Therapy 
C)  Existential Therapy  D)  Behaviour Modification Therapy 

 
43. Man is a group animal. Hence social interaction is the result of the group living. This is: 

A) A group work assumption B) A group work principle 
C) A group work value  D) None of the above 

 
44. Find out the mode of the following marks scored by 10 students as: 

10, 6, 11, 8, 9, 11, 7, 11, 12, 10. 
 
A)  9.5  B)  12  C)  11  D)  10.5 

 
45. Social Case Work aims at  

A) Providing career guidance to the client 
B) Helping to ventilate emotions 
C) Enabling the client to solve the problem 
D) Enabling Group for better social functioning 

 
46. Match the following 

List I        List II 
i) National Rural Livelihood Mission   a)  1999    
ii) PM Employment Generation Programme  b)  2005 
iii) SGSY       c)  2011 
iv) National Family Planning Insurance Scheme  d)  2008 
 
Code:  (i)  (ii)  (iii)  (iv)  
A) (c) (d)  (a)  (b)  
B) (a) (c) (b)  (d) 
C) (d)  (c)  (b) (a) 
D) (c)  (b)  (a)  (d) 

 
47. To one who follows Hindu religious practices, Marriage is a – 

A) Legal need   B) Sacrament 
C) Contract   D) Right to possess wife 
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48. Choose your answer according to the codes given below 
Assertion (A): India is characterised by the issues of gender discrimination. 
Reason (R) :  Gender discrimination is deep rooted in the patriarchal culture of  
  Indian society.  
 
A) (A) is false but (R) is true 
B) (A) is true but (R) is false 
C) Both (A) and (R) are true  
D) Both (A) and (R) are true but (R) is not the explanation of (A). 

 
49. Quota sampling is a method of  

A)  Probability sampling  B)  Non probability sampling 
C)  Census method of sampling D)  Lottery method 

 
50. Which among the following is not a kind of social process? 

A) Assimilation 
B) Conflict  
C) Accommodation  
D) Reservation 

 
51. The practice of untouchability is abolished under which Article of Indian Constitution? 

A) 17  B) 19  C) 21  D) 24 
 
52. When did Rehabilitation Council of India get Statutory status? 

A) 1982  B) 1992  C) 2002  D) 2012 
 
53. IGNOAPS is a scheme of 

A) Pension   
B) Insurance 
C) Educational Scholarship for weaker students 
D) Employment development scheme 

 
54. Who formulated Big Push Strategy? 

A) Rosenstein- Rodan  B) Keu Land 
C) Harvey Leibenstein  D) Ragner Nurseke 

 
55. HDI as composite statistic of life expectancy, education and income was created by the 

economist 
A) Edward Babier  B) Amartya Sen 
C) Mohammed Yunus  D) Mahbub Ul Haq 

 
56. Which of the following is not part of Log Frame Approach? 

A) Problem tree analysis  B) Stake holder analysis 
C) Perspective analysis  D) Objective tree analysis 
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57. Which one among the following is a network technique in project management? 
A) Social Cost Benefit Analysis  
B) Critical Path Method 
C) Management Information System 
D) Planning Programming and Budgeting  

 
58. Red-tapism is said to be one of the bottlenecks in the management of the projects and this 

belongs to the category of: 
A) Human factor   B) Organisational factor 
C) Financial factor  D) Resources factor 

 
59. Who is the proponent of the System Theory that is used in organisational  management? 

A) L.D. White   B) F.W.Taylor 
C) Herbert Simon   D) Von Bertanfly 

 
60. The number of subordinates that an administrator can personally direct is called: 

A) Hierarchy   B) Unity of command 
C) Span of control  D) Centralisation 

 
61. The essence of ------- is to confer discretion upon others, to use their judgement in meeting 

specific problems within the frame work of their duties 
A) Coordination   B) Delegation 
C) Supervision   D) Communication 

 
62. What type of sample design is used where the size of the sample is not fixed in advance 

but determined according to the progress of the study? 
A) Sequential sampling  B) Multi stage sampling 
C) Cluster sampling  D) Stratified random sampling 

 
63. Who is the author of the definition of Community organisation as ‘ a process of bringing 

and maintaining adjustment between social welfare needs and social resources in a 
geographical area’. 
A) Murry G Ross   B) Arthur Durhan 
C) Lurie    D) Konopka 

 
64. What do we call the schedule used in those cases where attitude or opinion is to be 

measured? 
A) Observation schedule  B) Interview schedule 
C) Rating schedule  D) Document schedule 

 
65. For whom is the Swadhar Scheme launched in 2001-02 intended? 

A) Women in SHGs  B) Women survivors of disasters 
C) Welfare of migrant women D) Nutrition supply for adolescent girls 

 
66. Euphoria is understood as 

A) State of intense excitement  
B) State of Equilibrium 
C) State of conflict with happiness and sorrow 
D) State of Intense depressed feeling 
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67.  Gender is defined as: 
A)  Biological differences  B)  Socially constructed difference 
C)  Psychologically defined D)  An ascribed status of life 

 
68.  In order to validate the instrument of data collection, a researcher undertakes: 

A)  Pre test    B)  Pilot study 
C)  Feasibility study  D)  Monitoring of the tool 

 
69.  The value of mean, mode and median are equal in  

A)  Normal distribution  B)  Skewed distribution 
C)  Binomial distribution  D)  Central tendency 

 
70.  Assertion (A): Goitre is a common disease among the mountainous region 

Reason (R):  The diet of the people in the mountainous regions lack iodine content 
 
A)  Both (A) and (R) are true and (R) is the correct reason for (A) 
B)  Both are true and (R) is not the correct reason for (A) 
C)  Both are false  
D)  Both are true   

 
71.  Which of the following is enlisted by WHO in Life Skill Education? 

A)  Defence mechanism  B)  Empowerment 
C)  Strategic planning  D)  Decision making 

 
72.  UNDHR was passed in the year of 

A)  1947  B)  1948  C)  1957  D)  1958 
 
73.  Protection of the needs of the minorities are given in the ---- of Indian Constitution 

A)  Right to Freedom  B)  Right against Exploitation 
C)  Right to freedom of religion D)  Cultural and Educational rights 

 
74.  PNDT Act 1994 was passed in order to:  

A)  Prohibit adoption of children 
B)  Prohibit knowing the sex of the children 
C)  Prohibit knowing the sex of the foetus 
D)  Legalise the medical termination of pregnancy 

 
75.  Social cost benefit analysis relates to  

A)  Analysis of profit and loss of programmes 
B)  Analysis of programme benefits with programme cost 
C)  Analysis of programme income and expenditure 
D)  Returns of the programmes 

 
76.  Assertion (A): Child labour is mainly caused by poverty in the family 

Reason (R):  Poverty in the family is due to lack of family budgeting 
 
A)  Both (A) and (R) are true but (R) is not the correct reason for (A) 
B)  Both (A) and (R) are false 
C)  Both (A) and (R) are true and (R) is the most appropriate reason of (A). 
D)  (A) is wrong and (R) is correct 
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77.  Match the following for their association 

List I      List II 
(i)  Variable     (a)  Qualitative data 
(ii)  Attribute    (b)  Secondary data 
(iii)  Empirical evidence   (c)  Numerical data 
(iv)  Documentary evidences  (d)  Primary data 
 
Code:  (i)     (ii)    (iii)   (iv)  Code:   (i)     (ii)    (iii)    (iv) 
A)  (c)    (a)     (b)    (d)  B)  (c)    (a)     (d)     (b) 
C)  (c)    (d)      (a)    (b)  D)  (c)    (d)      (b)     (a) 

 
78.  Assertion (A): PRA is a dependable tool for generating of data for project need  
   identification 

Reason (R):  Triangulation is one of the principles of PRA to validate the data 
 
A) (A) is true and (R) is also true but not the reason of (A) 
B) (A) is true and (R) is also true and (R) is also reason of (A) 
C) (A) is true but (R) is not true therefore it is not the reason of (A) 
D) (A) is false but (R) is true 

 
79.  Which among the following is a prominent symptom of depression? 

A)  Irrational fear of an object 
B)  Delusions and hallucinations 
C)  Loss of interest and pleasure 
D)  A vague feeling of apprehension 
 

80.  Find out the meaning of the concept ‘pathos’ 
A)  Reaction to frustration B)  Emotional appeal 
C)  Detachment to work  D)   None of the above 

 
81.  Match the List  I with  List II 
  List I     List II 

a)  Alzheimer’s Day  (1)  December I 
b) Environmental Day  (2)  September 21 
c) AIDS Day   (3)  March 8 
d) Women’s Day   (4)  June 5 
 
Code: (a) (b) (c) (d) 
A)        (2) (3) (4) (1) 
B)        (4) (3) (1) (2) 
C)        (2) (4) (1) (3) 
D)        (4) (2) (1) (3) 
 

82.  Who is the Father of Scientific Management? 
 A)  Skinner   B)  Winslow Taylor 
 C)  McGregor   D)  Albert Bandura 
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83.  What is the theory in which the Managers subscribe to structure, control and closely 
supervise their employees? 
A)   Theory X   B)  Theory Y 
C)  Both theories X and Y D)  Neither theory X nor theory Y 

 
84.  Match the year of Acts enacted in India from the List I and List II  
  List I     List II 

I) Mental Health   (a)  1948 
II) Juvenile Justice  (b)  1987 
III) ESI    (c)  1936 
IV) Payment of Wages   (d)  2000 
 

 Code: (I) (II) (III) (IV) 
A) (a) (c) (d) (b) 
B) (d) (a) (b) (c) 
C) (b) (d) (a) (c) 
D) (d) (c) (b) (a) 

 
85.  A subject has a T score (Mean = 50, SD= 10) of 40 on an abstract reasoning test. The 

corresponding percentile rank would be: 
A)  16  B) 34  C)  40  D)  84 

 
86.  Which of the following is known for ‘Intensive Rural Reconstruction Scheme’? 

A)  Etawah Pilot Project  B)  Sriniketan Project 
C)  Gurgaon Project  D)  Firka Development Project 

 
87.  The process by which a course of action is selected to deal with a specific problem is 

understood   
A)  Decision making  B)  Goal setting 
C)  Organisational planning D)  Collateral Interview 

 
88.  Municipality system was given Constitutional status by  

A)  73rd Amendment  B)  74th Amendment 
C)  93rd Amendment  D)  94th Amendment 

 
89. The Indian Journal of Social Work started in the year: 

A)  1938  B)  1940  C)  1948  D)  1952 
 
90.  Elizabethan Poor Law 1601 was based on the concept of: 

A)  Rehabilitation of the poor  
B)  Determining the needs of clients who are poor 
C)  Charity attitude towards poor 
D)  Empowerment of the poor 

 
91.  The activity that inter relates various parts of a welfare agency so that it functions as a 

whole is: 
A)  Planning   B)  Programming 
C)  Coordinating   D)  Policy determination 
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92.  Pre-test is related to  
A)  Verifying the feasibility of the study 
B)  Verifying the tool of data collection 
C)  Verifying the design of the study 
D)  Triangulating the findings with data 

 
93.  The capacity of a person to put himself in somebody else’s situation and understand the 

feelings and emotions is known as: 
A)  Telepathy   B)  Ventilation 
C)  Empathy   D)  Sympathy 

 
94.  Forward pass and backward pass is applied in order to understand: 

A)  Social Cost Benefit Analysis B)  Critical Path Method 
C)  Project Appraisal  D)  Project Design 

 
95. Social Group Work as a method does not help: 

A)  Individuals to enhance social functioning through purposeful group experience 
B)  Community to solve the problems of groups in a community 
C)  Provides a context in which the individuals help each other 
D)  Individuals and groups influence each other and change social situations 

 
96. Assertion (A): Most of the foreign funding agencies withdrew from Kerala since 2000. 

Reason (R): The NGOs failed to complete the project on time and swindled fund. 
 
A)  Both (A) and (R)are true but (R) is not the appropriate reason 
B) Both (A) and (R) are true and (R) is the most appropriate reason for (A) 
C)  Both are false 
D)  Both are true  

 
97. Social mapping is one of the tools used in PRA and it is in the category of  

A)  Relation related  B)  Time related 
C)  Space related   D)  Locality related 
 

98. Which among the following is not a principle of PRA? 
A)  Off setting of bias  B)  Optimal ignorance 
C) Triangulation   D)  Venn Diagram 

 
99. What is expressed in the form of indifference to the group task and lack of genuine interest 

is called as  
A)  Empathy   B)  Apathy 
C)  Catharsis   D)  Ventilation 

 
100.  What method of social work is said to be an organised effort with an aim of securing 

 social progress and solving mass problem. 
A)  Community Organisation 
B)  Social Action 
C)  Social Welfare Administration 
D)  Social Work Research. 
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101.  Compared with the methods of Social Work, which method requires more resources: 
A)  Social Case work  B)  Social Group work 
C)  Community organisation D)  Social Work Research 

 
102.  Social worker who works with clients at family level is: 

A)  Micro level   B)  Meso Level 
C)  Macro level   D)  None of the above 

 
103.  In an NGO’s community health project, the PHC doctor is arranged to conduct an 

awareness programme on life style diseases and the doctor is given Rs. 1000 as travelling 
allowance. This will be accounted as what type of cost. 
A)  Activity Cost   B)  Administrative cost 
C)  Personnel Cost  D)  Miscellaneous Cost 

 
104.  Which analysis shows the relationship between means and ends in Log Frame Approach? 

A)  Stakeholder Analysis  B)  Problem Tree Analysis 
C)  Objective Tree Analysis D)  SWOT Analysis 

 
105.  The lack of symmetry in the shape of a frequency distribution is  

A)  Kurtosis   B)  Skewness 
C)  Moments   D)  Anomalism 

 
106.  The social interaction in which fusion or blending of two previously distinct groups into 

one takes place is termed as 
A)  Accommodation  B)  Cooperation 
C)  Assimilation   D)  Competition 

 
107.  A record of all cash receipts and payments made and maintained from day to day, and the 

cash balance in hand at the end of each day not exceeding a month is  
A)  Ledger    B)  Stock Register 
C)  Fixed Asset Register  D)  Cash Book 

 
108.  Which writ is used to prevent a person from holding an office which he is not entitled to 

hold? 
A)  Mandamus   B)  Habeas Corpus 
C)  Quo Warranto   D)  Certiorari 

 
109.  Which of the following PRA method shows the key institutions, organizations, groups, 

influential persons and their relationship and importance?  
A)  Pie Diagram   B)  Venn Diagram 
C)  Impact Diagram  D)  Wealth Ranking 

 
110.  Choosing a methodology purposefully with explainable reasons and with reference to a 

particular client is known as: 
A)  The Eclectic Approach  
B)  The Problem Solving Approach 
C)  The Psycho Analytic Approach 
D)  The Behaviour Modification Approach 
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111.  Name the author who proposed three models of community organisation 
 A)  Murray G Ross  B)  Hamilton 
 C)  Mary Richmond  D)  Rothman 
 
112.  The social movement system where people are faced with a social system from which they 

cannot come out and they feel powerless to change. 
 A)  Reform movement  B)  Utopian movement 
 C)  Expressive movement  D)  Resistance movement 
 
113.  Assertion (A): India’s Constitution is the longest written one in the world 

Reason (R):  India has borrowed many aspects from the existing constitutions in the 
world. 

       Choose your most appropriate answer from the following options: 
 

A) Both (A) and (R) are true but (R) is not the only reason of (A) 
B) (A) is true but (R) is false 
C) (A) is false but (R) is true 
D) (A) is true and (R) is the correct reason of (A). 

 
114.  Who among the following Presidents of India is known as the Great Indian Philosopher? 
 A)  Dr. Rajendra Prasad  B)  Dr. S. Radhakrishnan 
 C)  Dr. Neelam Sanjeeva Reddy D)  Dr. A. P. J. Abdul Kalam 
 
115.  What type of unemployment in a country fails to exploit the efficiency of the labourers? 
 A)  Disguised unemployment B)  Structural unemployment 
 C)  Frictional unemployment D)  Under employment 
 
116.  Which stage of the development of an individual is said to be a period of stress and storm? 
 A)  Late childhood  B)  Adolescence 
 C)  Early Adulthood  D)  Middle age 
 
117.  Assertion (A): Freud holds that sex instinct is the source of all human endeavours 

Reason(R): Social Psychologists have tried to explain human behaviour in terms of 
instincts. 

 Choose your most appropriate answer from the following options: 
 

A) Both (A) and (R) are true  
B) (A) is true but (R) is not true 
C) (A) is not true but (R) is true 
D) Both (A) and (R) are not true  

 
118.  In the project appraisal, the consumers’ behaviour and preferences are studied. It is in the 

area of: 
 A)  Technical appraisal  B)  Marketing appraisal 
 C)  Management appraisal D)  Profitability appraisal 
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119.  What type of evaluation helps the project manager to know whether the project has 
realised its long term impact as it is predicted before implementation. 

 A)  Concurrent evaluation  B)  Terminal evaluation 
 C)  Longitudinal evaluation D)  Internal evaluation 

 
120.  Assertion (A): Professional Social Work has not succeeded to take root in Kerala. 

 Reason(R):  People are too poor to pay their services. 
 

        Choose your most appropriate answer from the following options: 
  

A)  Both (A) and (R) are true and (R) is the major reason of (A) 
B) (A) is true but (R) is not true for there is no relation between these two. 
C)  Both (A) and (R) are false because they are not related 
D)  (A) is false but (R) is true  

 
______________________ 

 
 
 
 
  


